| 3 2

NOTE: DOUBLE TRACK LOW
HEADROOM, HI-LIFT TRACK,
FOLLOW—THE—ROOF TRACK,
AND VERTICAL LIFT TRACK
ARE AVAILABLE OPTIONS.
3" TRACK ALSO AVAILABLE.

HORIZONTAL TRACK END HANGER BRACKET (SUPPLIED
By DOOR INSTALLER> CLOSES ROLLER CHANNEL.
INTERMEDIATE HANGER REQUIRED FOR DOORS IF
HORIZONTAL TRACK DEFLECTION EXCEEDS

1/240TH DF THE DOOR HEIGHT

CAST ALUMINUM

CABLE DRUM _\;/I
\\//‘\\//\\//\\/

MAX 16’-2” WIDE X 18’-0” HIGH REVISIONS
MODELS AVAILABLE (CLOPAY/ HOLMES/ IDEAL) REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
MODELS 524, 520/ 224/ CA4ST, COST 12 - 10/2005 - - ADDED ROLLER OPTION.
INSULATED MODELS 524S, 520S, 524V/ 224S/ C4SS, COSS, C4SV 13 = 11/2008 - = ADDED MPC; WELD DETAIL.
14 - | 02/2012 - - UPDATED WINDCODE CHART.
15 - | 08/2012 - - REVISED FOR TDI.
16 - 06/2013 - - REMOVED ACRYLIC/WIRE GLAZING. SPECIFIED FV DIMENSIONS.
THIS PRODUCT COMPLIES 17 - 08/2016 B - REMOVED WIND SPEED TABLE.
WITH THE 2018 IBC/IRC. 18 - | 02/2022 - - REVISED FOR TDI.

THE OPTIONAL GLAZING SHOWN

7.0
%

ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL SUILDING CODE BUT DOES NOT MEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS

DOOR WIDTH CENTER |C-CHANNEL
poe Ny / AAL V STEEL TRACK STILES STRAPS ADJUSTABLE TOP ROLLER BRACKET
A 4, Il SECTIONS- — - # 7 # 7 OPTIONAL INSULATION OF 12 GA. GALV. STEEL, INSTALLED
» T @ M| HORIZONTAL - 14 GA MIN. 12’-3" THRU 13’-2 2 4 (SEE MODEL EXPLANATION) ON DODR WITH (4) #14 X S/8° LG
P 2 — T N SHEET METAL SCREWS
K, A C 13'-3° THRU 16'-2 3 5 # # 4 #
g - " ROLLER WITH STEEL R NYLEN
, . - GALVANIZED STEEL
o % 'k ] T SR VONIZED STE DOOR HEIGHT ‘a¢ |NUMBER OF |- 53 Max —|— 44° TYP J— 44+ TvP - 53+ wax TIRE
. - ) 6. SECTIONS SECTIONS ARE 1-7/8° THK PANELS ROLL
) ’0 \& s 1. VERTICAL - .060 MIN UP TO 8-0° 4 OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS AVAILABLE, FORMED OF .022° MIN. HOT DIPPED ONE 4 14 GA. C-CHANNEL PER
= e 8'-3* THRU 10°-0° S SINGLE PANE OR INSULATED. ALL PANES ANNEALED GLASS OR STRONGER. GALVANIZING, ROLL FORMED STEEL, DOOR SECTION. (1> 1/4° X 3/4*
'C ®, - H 10'-3° THRU 12'-0* e SINGLE PANES §” OR THICKER. INSULATED WINDOWS 3" THICK, CONSISTING SELF TAPPING SCREW PER
v : i, - OF (2) PANES &" THICK. FULL VISION IONS TO HAVE 2 8" STIEE. “SEE VBV i)
X [jHHEEIgLNTG c. VERTICAL TRACK TO BE 12-3" THRU 14°-0 7 L-ANGLE HORIZONTAL REINFORCEMENT, ATTACHED J0 THE REINFARONG”®
. ] ©C - CONTINUOUS ANGLE OR 14'-3° THRU 16'-0 8 RIB WITH 4" X 6" OFFSET PLATES AT EVERY HINGE LOCATION AND THE
Ngegn REVERSE ANGLI-I:?ETRACK. 16'-3° THRU 18'-0” 9 CENTER OF EACH PANEL WITH (2) 1/4"-20 X 5/8" HEX HEAD BOLTS
et TRACK CLIPS ARE 12 GA. — AND' NUTS. MAXWMUY BAOTSEANNRL ~Bi6" C-CHANNEL PER ]
N TYPICAL GALV. STEEL. MAX. SECTION HEIGHT: 24 gECTIDN. SEE SECTION 1-1 FOR MOUNTING DgLTJﬁ_LEEs END \— 1S—T1R/:';wg)5 ;(E .%SDSS'R GsAELe/T'mN
. ETAILS. \ . .
et CTR-CTR SIS ARE ATTACHED o ACK L o] EACH STRAP ATTACHED WITH (¢3)
Uil WITH EITHER TWO 1/4" RIVETS - - Vi A i o e
! OR ONE 1/4" BOLT. 1\ Al oL TWO SCREWS 70 DOOR, ONE SCREV
10" [Ir 14x5/8" SHEET METAL SCREWS =" IN D WINDOW LITES. ALL - !
—h T #14x5/ T/ PANES ANNEALED GLASS OR D CREHENNER
L3 12 X STRONGER. SINGLE PANES 3" |
OR THICKER. INSULATED a
STANDARD_LIF TRACK DETAILS ) 1/4"x3/4" SELF } WINDOWS 1" THICK, END HINGES OF MIN.
T4PPING “SCREWS A CONSISTING OF (2) PANES §" 14 GA. GALV. STEEL, FASTENED WITH
_ . THICK. FRAMES SECURED WITH (4> #14 X 5/8° LG. SHT, MIL. SCREWS
{ 2 (o — Pie #) - 5 7 QTY. (10) #8-11 CROSS I AND (2) 1/4'x3/4° SELF-TAPPING SCREWS.
% 2z A S i =1 — ¢ 1 T | RECESSED PAN HEAD, TYPE A =
CH. TINGE AS SHOWN ATTACH ON EACH HINGE AS SHOWN . JAPPING SCREW WITH (3 = =
N S TeL MOULTING B %*:g 1)5:%/?;4 S JHT ML SCREVS  VITH () 174" X S/B'SHEET METAL SCREWS SCREWS ON EACH HORIZONTAL 4" ==
X EDGE AND (2) ON EACH
B 16 GA. MIN. GALV. DR PAINTED STEEL DOUBLE END STILE é{g‘é’[ mg m{Engﬁ?fK_ e VERTICAL EDGE. SCREW
FASTENED TO DDOR SKIN WITH TOG-L-LOC SYSTEM, CONCRETE, BUT LENGTH 1.5" FOR INSULATED LJ
DOORS AND 0.75" FOR -2—-1/2
UNINSULATED DOORS. MAXIMUM
5 0 P TN TR o N o pont. Y yre
BN, | LOCKING REQ'D / VIEW "D"
ELECTRODE MIN.}. WELD "
GA. GALV. STEEL (CENTER) HINGE, 70 BE LOCATED CALL S e | 4" TALL C—CHANNEL
ATTRCHAENT 7716 Pusr:ur INSTA\L,LEII DN RDLLER SHAFT ON ANGlI..E AT 24W y | MAX. DODR WIDTH: 16'—2* SECTION 1 -1 14 GA. GALV. STEEL
ILLUSTRATIONS CENTER AND TACK 2 GA. GALV. REVERSE olipae
" e i 8 S WELD TOE OF ANGLE AT 0% GONTINLIOUS. ANGLE MIN YIELD STRENGTH S50KSI
— HETAILS. o ISTECIN e e e SAME SPACING. MOUNT TRACK FASTENED ANCHOR NOTE; FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF
DIRECTLY TO STEEL JAMB. THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS
SECTION 2-2 WELDED HIGH AS THE DOOR OPENING. BOTTOM SECTION REINFORCED WITH BOTTOM ROLLER BRACKET OF 13 GA
A TEMPERED ALUMINUM EXTRUSION WITH MIN, GALV. STEEL, FASTENED WITH ¢4
WOo0oD JAM N T CONCRETE_JAMBS A SELF~TAPPING SCREW WOOD JAMBS INTEGRAL RETAINER FOR FLEXIBLE #14 X 5/8° LG SHT. MTL. SCREWS
2,000 PS! MIN 2,000 PSI MIN 3/16" MIN. STEEL

CONCRETE

3/8" DIA. x 1-1/2"
MIN. EMBED SLEEVE

147 MAX.
TO CONCRETE.

/mmcxn MOUNT OR CONTINUOUS

ANGLE MOUNT TRACK FASTENED
TO 2x6 #2 OR BETTER

YELLOW PINE JAMB WITH

ONE 5/16"x1-5/8" LG.

LAG SCREW PER BRACKET

OR TRACK CLIP LOCATION.

CONCRETE

ANCHOR. WASHER INCL'D.
0.C.
TO SECURE 2x6 JAMB

C'SINK IF NEEDED.
3" MIN. EDGE DIST.

1/4"x1-1/2" MIN,
EMBED SELF—TAPPING
CONCRETE ANCHOR.
1" WASHER REQ'D.
12" MAX. 0.C.
21l 7O SECURE ANGLE
.51 TO CONCRETE.

3" MIN. EDGE DIST.

REVERSE OR CONTINUOUS
ANGLE MOUNT TRACK
FASTENED DIRECTLY

TO CONCRETE.

VINYL ASTRAGAL \ .

DESIGN LOADS: +32 & -32 P.S.F.

3/8°x1-1/2" MIN.
. /_ Slben LKC semtw,[THE DESIG OF THE TEST LOADS  +48 & —48 P.SF.
MAY BE BACK—FILLED 1/4°x3 /47 B AR | S & I HESONSERITY MARK WESTERFIELD, P.E.
SN C e e et BGre o APPING 0.C. TO SECURE |OF THE BUILDING ENGINEER OR | FLORIDA P.E, #48495 NC P.E. #23832, ﬁhﬁjgc TERLNE KR,EECITEC D4D28
Al }% s’ééﬁ'm?" i‘:’: lv}\fé:(){t[:)::E.uu.ua ARCHITECT OF RECORD. UTlEXASS:’ tEd#sat:‘m = P :
] . nless Stoted Otherwise uke Boulevard WINDLOAD RATING
i e e TOLERANCES o | Bslpay g S i0IRS WS
CLOPAY CORP. .0 = .00 CORPOR Fox No. 513-770-4853
BRACKET MOUNT OR CONTINUOUS ALL RIGHTS RESERVED. 00 = +.015  |DESCRIPTION: COMMERCIAL RIBBED DOOR, +/- 32 PSF DESIGN LOAD
ANGLE MOUNT TRACK FASTENED .000 = *.005
e o o ygLnga ngé)R:MBJ:ﬁRTH .0000 = +.001 DRAWN BY: RJK DATE: 4/14/99 |SCALE: NOTED |pwa.
ANGLE MOUNT TRACK ONE 5/16"x1-5/8" LG. Third Anale Degrees = +1/2 CHECKED BY: Mww DATE: 4/99 SHEET 1 OF 1 |SIZE
FASTENED DIRECTLY LAG SCREW PER BRACKET ¢ Ang Unless Stated Otherwise
TO STEEL JAMB. OR TRACK CLIP LOCATION. Projection DIMENSIONS ARE IN INCHES.| DWG. NO.: 101885

S

.

2




